

$$\log(2x) + \log(x+5) = 2$$

$$\log(ax)(x+5) = 2$$
Convert this to exponential form.
$$\frac{3x(x+5)}{2x^{2} + 10} = 10^{2}$$

$$\frac{5}{10} \times -50$$

$$2x^{2} + 10x - 100 = 0$$

$$\frac{10}{2} - 5$$

$$\frac{10}{2} (x^{2} + 5x - 50) = 0$$

$$\frac{10}{1 + 10} (x-5) = 0$$

$$\frac{1}{2} \log_{6} 9 = \log_{6} x - \log_{6} 27^{\frac{1}{3}}$$

$$\log_{6} 9^{\frac{1}{2}} = \log_{6} \left(\frac{x}{27^{\frac{1}{3}}}\right)$$

$$\log_{6} 3 = \log_{6} \left(\frac{x}{3}\right)$$

$$3 = \frac{x}{3}$$

$$\frac{x}{3}$$

$$x = 9$$

Ī

$$\log_{3}(x-2) + \log_{3}(x-3) = 2$$

$$\log_{3}(x-2) + \log_{3}(x-3) = 2$$

$$(x-2) (x-3) = 3^{2}$$

$$(x-2) (x-3) = 3^{2}$$

$$(x-2) (x-3) = 3^{2}$$

$$(x-2) (x-3) = 3^{2}$$

$$(x-3) + \log_{3}(x-3) = 3^{2}$$

$$(x-3) + \log_{3}(4-x) = 1$$

$$\log_{3}(2-x) + \log_{3}(4-x) = 1$$

$$(x-3) + \log_{3}(4-x$$

